PARKING BRAKE ASSEMBLY STEELG=REEN

M A NUFACTURING

DRAWING NO. SGEV-026 REV. B

PARTS LIST
PART NUMBER TITLE @

R21-237 SG FOOT BRAKE CABLE MOUNT
D71018 CABLE, PARKING BRAKE
2447K110 CLEVIS, PARKING BRAKE CABLE

3

ITEM| Q
58

(o))
—
HIDIN

76

PARTS LIST

ITEM| QTY |PART NUMBER DESCRIPTION

75 R21-225 BRACKET, PARKING BRAKE
HFSSC-1475  |HEX FLANGE BOLT, 1/4 X 3/4
HFNCS-14S HEX FLANGE NUT, 1/4

N
o))
HIBAN

77




MANUFACTURING

PARTS LIST
ITEM| QTY |PART NUMBER DESCRIPTION
75 | 2 |R21-225 BRACKET, PARKING BRAKE
76 | 4 |HFSSC-1475 |HEX FLANGE BOLT, 1/4 X 3/4
77 | 4 |HFNCS-14S  |HEX FLANGE NUT, 1/4

SG36/42

PARTS LIST

ITEM| QTY |PART NUMBER DESCRIPTION

51 | 8 |HFNCS-516S |HEX NUT, 5/16"
59 | 4 |CB-5161SS CARRIAGE BOLT, SS - 5/16-18 x 1




